
Uživatel:Mononoke/Pískoviště
Arcus	aortae	a	jeho	vývojové	odchylky
Arcus	aortae	je	jednou	z	částí	aorty.	Navazuje	na	její	vzestupný	úsek.	Začíná	za	sternem	v	oblasti	chrupavky
druhého	žebra,	stáčí	se	vlevo	dozadu	přes	bifurkaci	trachey	a	nadbíhá	arteria	pulmonalis	dextra.	Poté	jde	přes	levý
bronchus	a	pokračuje	dozadu	a	přikládá	se	k	páteři	v	úrovni	obratlů	Th3-4.

Z	konvexní	části	oblouku	odstupují	typicky	tři	hlavní	větve	v	tomto	pořadí	(směr	toku	krve):

truncus	brachiocephalicus
arteria	carostis	communis	sinistra
arteria	subclavia	sinistra

Výše	zmíněné	větve	mohou	mít	vývojové	odchylky,	se	kterými	se	lze	setkat	i	úplnou	náhodou,	protože	nemusejí
nositeli	způsobovat	žádné	obtíže.

-domalovat	obrázky	(pracuju	na	tom)

https://www.wikiskripta.eu/w/Velk%C3%BD_krevn%C3%AD_ob%C4%9Bh
https://www.wikiskripta.eu/w/Kost_hrudn%C3%AD

